Ki, Mobility

N

Rogue XP / Little Wave XP Height Adjustable T-Arm

This design effective December 6, 2017 <p>

Height Adjustable T-Arms cannot be retrofitted
Item Number Part Number  Description Quantity Retail
%576’82%6110-18, 505646 gte;gg; %d{agaAern;S,?(ssm w/ Short Side Shield and 1 $234.78
%5761,’82%6110-18, 505644 gggg;ﬁjdLgaAlr:rS”Assm w/ Short Side Shield and 1 $234.78
%676’82%;0-18, 505650 wz?erﬁ :"dljD;aAggsﬁssm w/ Short Side Shield and 1 $243.94
%E)%,%%alo-l& 505648 \I?Vetsi?etﬁaﬁ\ldlja'araAémlAssm w/ Short Side Shield and 1 $243.94
%676’82386110-18, 505647 gtea{gg; ﬁ\jd#;dAggsﬁsgg Iv|¥/ Short Side Shield and 1 $469.57
129731,82%;0-18’ 505645 gggg;%dLgaAlr:rS”,’Anger/ Short Side Shield and 1 $469.57

10-05-2021



Item Number  Part Number  Description Quantity Retail
1-7, 8a, 10-18, Height Adj T-Arm Assm w/ Short Side Shield and
20b, 23b sbeiesd Waterfall Pad Desk, PAIR 1 SEEEd
1-7, 8b, 10-18, Height Adj T-Arm Assm w/ Short Side Shield and
20b, 23a 505649 Waterfall Pad Full, PAIR 1 $487.89
19713 82? 9232 506081 Height Adj T-Arm Assm w/ Short Side Shield and 1 $262.96
52 2 4 ! ! Standard Pad Desk, 1-3/8" Receiver TSU/RG '
1-7, 8b, 9-18 . . . .
T : Height Adj T-Arm Assm w/ Short Side Shield and
%523&,231, 20a, 506093 Standard Pad Full, 1-3/8" Receiver TSU/RG 1 $262.96
1-7, 8a, 9-18 . . . )
v : Height Adj T-Arm Assm w/ Short Side Shield and
%gg gzll 22, 506094 Waterfall Pad Desk, 1-3/8" Receiver TSU/RG 1 $272.57
1-7, 8b, 9-18 - - : .
P : Height Adj T-Arm Assm w/ Short Side Shield and
29D, 24,22, | 506095 Waterfall Pad Full, 1-3/8" Receiver TSUIRG 1 $272.57
1-7, 8a, 9-18, Height Adj T-Arm Assm w/ Short Side Shield and
19b, 21, 20a, 506091 Standard Pad Desk, 1-3/8" Receiver TSU/RG 1 $525.91
22,24 PAIR
1-7, 8b, 9-18 . . . .
T : Height Adj T-Arm Assm w/ Short Side Shield and
%ga,zil, 20a, 506092 Standard Pad Full, 1-3/8" Receiver TSU/RG PAIR 1 $525.91
1-7, 8a, 9-18, Height Adj T-Arm Assm w/ Short Side Shield and
20b, 21, 22, 506096 Waterfall Pad Desk, 1-3/8" Receiver TSU/RG 1 $545.16
23b, 24 PAIR
1-7, 8b, 9-18 . . . .
P : Height Adj T-Arm Assm w/ Short Side Shield and
29D, 24,22, | 506097 Waterfall Pad Full, 1-3/8" Receiver TSU/RG PAIR 1 $545.16
2,2 61012 1 505490 Height Adj T-Arm Upper Latch Assembly 1 $40.56
4,10, 11, 13 505507 Height Adj T-Arm Release Lever Assembly 1 $8.49
Height Adj T-Arm Receiver Assembly 1-3/8"
9,21, 22,24 501731 TSU/RG 1 $48.23
16-18 506082 Height Adj T-Arm Short Shield Assembly 1 $16.44
%-87’ 10-14, 16- | 504160 Height Adjustable T-Arm Lower Assembly Short 1 $132.94
Does not include t-arm upper, arm pad or arm pad screws
1-7, 8a, 10-18 | 003463 Height Adjustable T-Arm Short Desk 1 $207.98
Does not include arm pad or arm pad screws
1-7, 8b, 10-18 | 003464 Height Adjustable T-Arm Short Full 1 $207.98
Does not include arm pad or arm pad screws
1 000089 Height Adj T Armrest Post 1 $25.10
2 000095 Height Adj T Armrest Transfer Tube 1 $28.07
7 000090 Height Adj T Armrest Shim 2 $2.55
8a, 15 112906 Eleuight Adj T Armrest Upper Desk w/ Tube End 1 $76.67
8b, 15 112907 Height Adj T Armrest Upper Full w/ Tube End 1 $76.67

Plug

10-05-2021




Item Number  Part Number  Description Quantity Retail
9 101130 M6 x 55 FSHCS P/THD BLKZC 2 $2.10
10 003458 M5 X 12mm FHCS BLK ZN W/ Patch 4 $1.05
11 000152 Height Adj T Armrest Release Spring Button 1 $1.09
13 000135 Height Adj T Armrest Release Lever Spring 1 $1.09
15 100803 Tube End Plug 7/8" 2 $1.58
16 003641 .25" x .75" Dowel Pin 2 $1.05
17 003457 M5 x 14mm Barrel Nut 2 $1.05
19a 100500 Arm Pad Full 1 $23.64
19b 100501 Arm Pad Desk 1 $23.64
20a 100696 M5 x 30mm PPH Capscrew 2 $1.58
Used with Standard Arm Pads
20b 100654 M5 x 40 DIN7985 PH Pan HD M/S zZC 2 $1.58
Used with Waterfall Arm Pads
21 004578 Height Adjustable T-Arm Receiver 1.375" 1 $15.25
22 000088 Height Adj T Armrest Bracket 1 $27.42
23a 102452 Waterfall Arm Pad Full 1 $32.80
23b 102521 Waterfall Arm Pad Desk 1 $32.80
24 100658 M6 Nylock Nut Blk Zn 2 $1.05

10-05-2021




